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Question Number : 2 Question Id : 64041114722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following statements
Bod [HHSaredh H0KBoSos

Statement-I . A function f: A —» B 1s said to be one-one if and only if
fix)zf(y)=x=y

(madsiao-1 ol (Phahdn frA—oB @3&%5’1}0 50eeRE  eEE-Horgs
Qobsosw fX)zf(v)=>x=y

Statement-I : A relation f:A—>B 1s said to be a function if
xxy=1i(x)21£(y)

(5555011 : X2y=>fX)2f(y) wowd, f:A—>B o3 a8 Somoo a¥

Siahoho @HHob.

Then which one of the following is true ?
P Bob RS DB $&5Hn ?
Options :
only statement-I 1s true
S50 I m(E@adh Segam.

1. ®

only statement-II is true
EHSS0 I @ Heg5m.



Both Statement-I and Statement-II are true
s % S0 I ahBohn (s9a5880 I Botr Hesain.
Neither Statement-I nor Statement-II 1s true

(285550 I 508c5m HHSS0 11 Botr H&gn 5°5).
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Question Number : 3 Question Id : 64041114723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



1
Ift, = i(ﬂ +2) (n+3),ne N, then which one of the following is true ?

1
[ :E(IH_ 2)(n+3),ne N wons, esipis &8 (8ol st HEy Mg Y

| 1,1, 1 2003
Assertion (A) tf ty  taggy 3009
1 .\ 1 B 1 4n
Reason (R) T oty oty (2n+3)
1 1 1 2003
LR (M) T T g0 3009
l+i+ +L_ 4n
sdeo (R) oty oty (2n+3)

Options :

(A) and (R) are true and (R) is a correct explanation of (A)
(A) SoBosn (R) Sefgibin @Boin (A) ch) .8 JBEHY idm (R).

1. =



(A) and (R) are true, but (R) is not the correct explanation of (A)
(A) obosn (R) defgido, =8 (A) Gt a8 NBEHES xS (R) seaho.

(A) 1s true, (R) is false
(A) Xefin, (R) ededo.

(A) 1s false, (R) 1s false
(A) eddgin, (R) eddo.
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Question Number : 4 Question Id : 64041114724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :



k=2 only

k=2 % $rgd oHod

] %
k=%2 only
k=12 o% $r@d oHsod
2. %
no real value of'k
k cﬁ:nﬁ; D TRD Dendd =%
3 %
all real values of k
k Sw¥) o) LD Devdedd ©HEod
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Question Number : 5 Question Id : 64041114725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If A=|4 -1 7 | and the rank of A is 2. then the value of x is equal to

2 4 -6
2 2 ®]
A=(4 -1 7 | bcin A o) 858 2 womd, X 0¥ Dend
12 4 -6
Options :
1
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Question Number : 6 Question Id : 64041114726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 64041114727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

- 2 2 2
For any two non-zero complex numbers z; and z,. if ‘Zl +7, :‘Zl‘ +‘Zl‘
then
~— =, 5 ’: g Y 5] "
B Both SRS 5088 Boggen Z, 5B 7, 08 |Zl +zj|' :|z1 = ;|zj.|' ©Oo0ES,
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1111:i =4
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2. % sy
Re(z;z,)=0
3. % ¥
Im(z;z,)=0
., m(am)

Question Number : 8 Question Id : 64041114728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

2 :
If 1. @. ®= are the cube roots of unity. then
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Options :

3080
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L o 3465
L« 3175
. % 3715

Question Number : 9 Question Id : 64041114729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1+3D)° - (B+1)° =

Options :
1. % 0

64

128
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Question Number : 10 Question Id : 64041114730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

' -r " " ' '
If o. B are the roots of the equation X~ +bx+c =0 satistying the conditions

U-_BZS and .3_34_[33:6[]. then 3c+2 =

2 T — - - - 3 3
X~ +bx +¢ =0 HabB8eso ng) deerSd o. f oo . a+f=5 b a” +p7 =60
ol DohEres e‘%&‘éﬁﬁé_@, oapth 3c+2=

Options :
2b

1. ®

4 x —2b

Question Number : 11 Question Id : 64041114731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

)
l. X" 4X%X14a  :
If —<—<27xeR. then a=
X —X+4a
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Question Number : 12 Question Id : 64041114732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If o.p.y are the roots of the equation x> +ax” +bx+c=0. then
(a+B-27)(B+y—-2a)(y+a—-2B)=
o.P.y eo %&ngs;mo X‘% + a‘.'{: +bx+c=0 @), 5:.:5@@%, eaTPe
(a+Pp—27)(B+y—2a)(y+a—2B)=

Options :

2a° +9ab+ 27¢
1. #



2a® +9ab—27¢c

2. %
o -
2a” —9ab-27c¢
3. %
3 s L)
2a” —9ab+27c¢
4.«

Question Number : 13 Question Id : 64041114733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

- 4 3 .2 ; -
If the sum of two roots of the equation X+ 2X™ —7x~ —8x+12 =0 is zero. then
the sum of the squares of the other two roots 1s

};4+2x3—7

2

X" —8x+12 =0 5dn88emo BnE) Both Hwrere Fngo K @ond, HADS
Coth srere Gng) Hore sngo

Options :
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Question Number : 14 Question Id : 64041114734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If 3 sisters and 8 brothers are together playing a game. then the number of ways
in which all the sisters and brothers are to be seated around a circle such that all
the three sisters are not seated together 1s

SoorHtn F5bomen HOEH AVWH Hod EKen EDY et 2.8 ok S0rHB
ROeaen e85 LD ErBdore sotékyrr RFEshen Bk RPEbmeh ©okbl)
2.8 fnﬂéo&m éﬁ&iﬁ%ﬁ@ﬁ e Jogy
Options :
8! x 504

L % 111x8

L= 71x210

8! x84
4.

Question Number : 15 Question Id : 64041114735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Out of 8 students in a classroom. 4 of them are chosen and they are arranged
around a table. If the remaining 4 are arranged in a row, then the total number of
arrangements that can be made with those 8 students 1s

2.8 S5158 K6E° Ko 8 Hod @W&Eﬁ{gﬂ@ﬁ HenthdR) JoHE™R), s8R &8 ag MHixe e .
SOADS BB a8 HHHS® @b h), © IO Fod E-m%iﬁ{%t:e%'ﬁ Schite Imndo eHdie
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Options :
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2. %

1440

3. %

, » 1050

Question Number : 16 Question Id : 64041114736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The sum of all integers between 1 and 100 (both inclusive) which are divisible
bySorl3is

5 8o 1303 grhodat 1 6cim 100 5063 (BoloBd HBredtE HHED) Ke %))
Dogge @ng) Sndo



Options :

v 1349

Question Number : 17 Question Id : 64041114737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

;i . ’ g
If the coefficients of x!Y and x!! in the expansion of (1+ux +px~)(1+ ){)11 are

396 and 144 respectively. then ¢ + 133 e

(1+ox +px)1+x)'! @ng 056t x10 H6am x!! o @ng s St

B

z p)
396 $0Bcw 144 wowd, ©HpH o +B =
Options :

10

1. ®

2. 13
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Question Number : 18 Question Id : 64041114738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
2 2 i 1
If — — <X <—_ then the value of the 3™ term in the expansion of when
3 3 : 2 -3x
X 3
A= ) 15
2 2 _ 1 1 i
o € & 'S — ST P HnEy ONAemd? B P s
3 < X 3 _"ID:LE, X 2 @_"JD\.}JE\.’M&:&.‘ 3 2 _31 CDJJé& Dui.ééubé 25 ':NJC.SI::J ﬁwgc_'_
Denad
Options :
256(3/2)
1.
35
768(3/2)

2. ¢



768(3/2)

3. %

103
256(32)

Question Number : 19 Question Id : 64041114739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
b
x“+1 , , )
If Xx>+/3 and — 5 1s expanded in terms of powers of x. then the
(X7 +2)(x" +3)

coefficient of x 8 is

"
X~ +1

(x* +2)(x* +3)

X \E snBain

i X G Jrere Hored” [0, - oh o) Hesto

Options :

1. ® 0

46
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Question Number : 20 Question Id : 64041114740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

: : , o . 2 X . X
Ifﬂ15ﬂmnmxmumrwmmaudﬁ15mfnmnmmnYMueotﬁﬁ-—+ﬂﬂ—.

XxeR.then a—-p=
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Options :



Question Number : 21 Question Id : 64041114741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If A and B are positive acute angles satisfying 3cos® A +2cos°B=4 and

3sinA 2cosB | AL9B
. = .then A+2B=
sin B cos A

3sin A _2cosB

sinB COSA

A 5855 B en 3cos= A +2cos-B =4 08050

- #
SEVIEALWSTS Wty

oL
e Brroons @IPH A+2B=

Options :
30°

Question Number : 22 Question Id : 64041114742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



: ; 27 —21
If sSinX —siny = 5 and cosxX—cosy = o5 then sin(x +vy) =

[y -

-

SINX —Siny = $080%0 COSX —Cosy = wond, sin(x+vy)=

|
_n 1

Options :
63
65
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Question Number : 23 Question Id : 64041114743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The number of solutions of the equation secx cos5x +1= 0 in the interval [0, 27]
15
[0, 271] wosB06® secx cos5x +1=0 Hn88mo @nE) FFbe Sogy

Options :

5

1. ®
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Question Number : 24 Question Id : 64041114744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

i s py o fy —
If the equation 2Cot l(x' +2x+k)=n—-3Tan 1(}:' + 2x + k) has two distinct
real solutions. then all the values of k lie 1n the interval
ais ) s g
2Cot H(x% +2x +k)=m—3Tan '(x% +2x+k) $&&Smo Boks IDH) 75
JetsHen EOA so&, k Tng) 53@355&:5% &S00 ©oS%o

Options :
Lx (-1,2)
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Question Number : 25 Question Id : 64041114745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Sech_l{sm g)y=

Options :

. .
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1. ®
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2. %
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Question Number : 26 Question Id : 64041114746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In triangle ABC if cos A cosB+sinA sinBsinC =1. then sinA +sinB+sinC =
AABC & cosA cosB+sinAsinBsinC =1 wond, sinA +sinB+sinC =

Options :

2+\/§
—

1. # ¥

1+\E

803 =4
Lo

3. % -

3+\/§

-

Question Number : 27 Question Id : 64041114747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



, ) cosA +3cosC
In AARBC.1fa:b:c=4:5:6, then =
cosB

cosA +3cosC B
cosB

AABC &fa:b:c=4:5:6 wons,

Options :
1

1. ®

Question Number : 28 Question Id : 64041114748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
. . 2113 _
In triangle ABC. ifa=6.b =28 and ¢ = 10. then o
1

213
[B2he0 ABC&*a=6,b=8 8¢ ¢ =10 wona, - -
1

Options :



b+c
1.

5 % c+a

a+b
3. %

4 % a+b+c

Question Number : 29 Question Id : 64041114749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the vectors 21 +3j+/k. -3i —2j—4/k and i — j +3/k form a right angled
triangle for a positive value of /. then the length of its hypotenuse is
[ @0 a8 Ford)E DendsH 68w 21 +3j+/k, —3i-2j—4lk H805»

i—71+3/k @0 a8 0ol [Beheorr OHES, @Hth oo B85 8
J &

ol 2 )
Options :
40
3
1. #
33



38 V3
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Question Number : 30 Question Id : 64041114750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A unit vector that is perpendicular to the vector 2i — j + 2k and coplanar with
the vectors i+ j—k and 21 +2j—k is

Qe HhHE
e

rSTAL:] QT—F+2E & woorr &0t suddin T+F—E S0Ban 2T+2E—K SBde &
J8DADD Son a8 e
Options :




Question Number : 31 Question Id : 64041114751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the vectors 21 — j+3k. i +4j+k. 41 +pj +k are coplanar. then p=
21— j+3k. i +4)+k. 41 +pj +k 2388w $8D05r88, edptd p=
Options :

53
] ®

37

2. %

43

LA
O

Question Number : 32 Question Id : 64041114752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

If the magnitudes of a.band T+ are respectively 3. 4 and 5. then the magnitude
ofa—b is

a.b 6cin a+b 1680 H65Fmren HHGT 3, 4 P06 5 wond, WP a—Db

Question Number : 33 Question Id : 64041114753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If i+j-k.—-i+2j+k. j+2k. 2i— j+2k are the position vectors of four

points A. B. C. D respectively. then the shortest distance between the lines AB

and CD 1s

i+j-k,—i+2j+k, j+2k. 2i - j+2k e 555 senth DothHen A, B, C,
D o Gn¥) =% ShEen wond, AB 58cin CD Bgpe 0y Heo @iz Srdskn



Options :
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3.

en |

Question Number : 34 Question Id : 64041114754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The mean and variance of the observations xy,x5.x3,...., X15 are respectively 2
and 4. If the mean and variance of the observations ¥1-¥2..... Y10 are respectively
2 and 5. then the variance of the observations x;.x,....X15.¥1.V2 '

58850 Ky Zg Rgaowwy lecfbjéé é}tﬁgéﬁﬁwﬂ s0bahn &Y E‘:é SN 2 Sobosn 4.
5B 8ersden ¥1-¥2:- .-, Y10 G008 sotigEnsr snddin 6’3&3‘;@ SEHme 2 HBckn 5 wows,
H88eden Xp,X25-:- %15, ¥1:¥2-- -5 Y10 P CBJDéC"T @é&@



Options :
| x 65

av ¥4

Question Number : 35 Question Id : 64041114755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If 3 squares are chosen at random from the 64 squares of a chess board. then the
probability that all of them lie along the same diagonal line is

2.8 Stoonn D 64 SHdiEre Hod Hirth SHYlEreD oD DDBID @

'y &
2,8 E‘égﬁ;‘; Og Soat &otiérd8 Ko JSogrss

i
g
Q=

Options :
21

764

1. ®

14
745

2. %



Question Number : 36 Question Id : 64041114756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Three letters are chosen at random from the letters of the word VARIABLE and
all possible three letter words (with or without meaning) are formed with them.
Then the probability of getting a three letter word having a consonent as its middle
letter is

VARIABLE 5060 efore £08 $1% oo S EEOrT o)oHBWTHB FdAW

O ﬁ“@aﬁ:ﬂ: S0t wfore Horefhodd (@gé}}é&i‘l, ©dEn 503) DB B, @pid,

0 @8Bo Freare &1 Dt elore Hord)) rofieeld Ko Hogresisd
2 T o - =, o

Options :
22
1. # 37
21

0. % 28
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Question Number : 37 Question Id : 64041114757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a shoe rack there are 4 pairs of shoes and 4 shoes are drawn one after the other
at random without replacement. Then the probability of getting atleast one correct
pair of shoes among the four shoes drawn 1s
2.8 art) @BS° 4 a:de aveéy G700, A2Y arend &BA a‘q:jé;om e BoeR) St
a.88m 4 aréd alrg)isore BFB. ©Opth B82S Tenth aréed® Ko 2.8 DB
e ardy SoBEEIS No Dogrilgd
Options :
8
35
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Question Number : 38 Question Id : 64041114758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A rational number 1s selected at random from the distinct rattonal numbers of the

form p/q formed with p and q belonging to the set {1.2.3.4.5.6} . The probability
that the rational number selected 1s a proper fraction. 1s

{1,2.3.4,5.6) 55088 3obS p 9800 q o8 p/q srsHos’ ES DD B tats-Tou)
Rogge fod ﬂ}t‘ﬂﬁ&ﬁﬂ:g{}ﬁ“ 2.¥ 088dah Loy D05l 0b. JOTHEY P tetrTow o8y
a8 ([Bahdkhim

ey 5 Lty
5eREeRE e Hograid
Options :

b | =

| L
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Question Number : 39 Question Id : 64041114759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The probability distribution of a discrete random variable X 1s given below

a8 DNK) ArhNng Joved X dng) Dogrdgee dgreido S HILHD a3)thob.

X=x |-1]0]1]2
| 1 (111
PX=x)|=|=|=|=

316[6]3

Then the value of 6 Z(xz) P(X=x)—var (X)=
@59 6 (x%) P(X =x) — var (X) =
Options :
113
Lv 12
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3. %
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Question Number : 40 Question Id : 64041114760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the average number of accidents occuring at a particular junction on a highway
in a week 1s 5. then the probability that atmost one accident occurs 1n a particular
week 1s

a8 I Ao a8 083 ErdDE a8 ardod® Drénd @b (Hirore Sogg b ®ons,

P 2.8 ﬁjfn:}g; S ale ok ﬁﬁ@om 2.8 (H&rtSo DogNodnRE e Sogrid
Options :
25
4
e
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Question Number : 41 Question Id : 64041114761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let A(5.4) and B(5.—4) be two pomts. If P is a point in the coordinate plane
T

such that |[AP =1‘ then the point P lies on the curve

A(5.49) £58c» B(5.—4) e Both Hodudhen. VErEHE Swodd P o a8 Dothd

|APB =

T 5 -
1 ©Ghsry 6o, optH P Do) eot HiESn

Options :

%2 +y* +10x-17=0
1. %



x2+}"'—2>;—31:0

2.V
x?+y*—10x+17=0
3. %
x? +y* +2x-31=0
4.%

Question Number : 42 Question Id : 64041114762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When the axes are rotated through an angle g about origin in anticlockwise
direction and then translated to the new origin (2. —2). if the transformed equation

; 2 2 g e 2 s 4 . o
of the equationof X" +y" =41s X" +Y " +aX+bY+c=0thena+b+c=
Srefothsd) Horr $5646° g Emo Howe oo (@ieo 3%, & SHerd Hrdd
Srodothd) (2. —2) HEH ool SEross ©f HBSES IVSHPH, x2 +y =4

2 r =
BEEBE0 TMNE) Eraross HEHEBEO X?+Y?2+aX +bY + ¢ =0 wond, ©IP
g+ lve=
Options :

v 4



Question Number : 43 Question Id : 64041114763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the perpendicular distances from the points (2. 3). (4. a) and (c.p) on to the

line 3x + 4y -3 =0 are equal and 40 —3p +1=0 then sum of all possible values

ofa. ¢ and f 1s

(2, 3). (4, a) H8c5 (o,B) © K08 3x+4y—-3=0039 28 ADY eoaliroeen $&rko

won 4o —3B+1=0 wond, @) a. o HBn B B FeiEodhy @) Hende Fndo
Options :
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1. ¥

o a]
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Question Number : 44 Question Id : 64041114764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The equation of the base of an equilateral triangle i1s x + v=2 and its opposite
vertex is (2. 1). If my, m, are the slopes of the other two sides and the length of
its side is a. then ‘1111 —1113‘ +av2 =

2.8 Diharsn (@4haiin Gng) ¢edh X+ Y =2 b6cn ool edkng %ﬁﬁﬁﬁz (2, 1). =
Saderao (Bahethn GIng) 388 Doth dhare arenen my, mj 8o od) ghao PSS

+a2 =

a ©ona, 2P ‘1111 —m,

Options :

83

1. ®

L.
7

2. ¢

i | b
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Question Number : 45 Question Id : 64041114765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The triangle formed by the lines 75 % Xy — 6}r3 —pand x+y—-1=0 1s
2X7+Xy-6y" =0 56cm x+y—-1=0 Spod 283 (Bibeo
Options :

equilateral

FseTaTn (@BEheo

1sosceles

Sdobgrso (Bgheso

right angled

ooa8%s (Bghao

scalene



Question Number : 46 Question Id : 64041114766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If

- )
?U is the centroid of the triangle formed by the lines 4%2% - }'3 =0 and

-~ —

Xx+my+n=0.then [+ m+n=

-

UV

q . ) - " ; )

4x° —y° =0 H6cm /X +my +n =0 Sped B (Bgbeso CB)JS&'T_EEC]@E,FE{)O 0 ‘
5 F

©wond, ©HPH [+m+n=

Options :

1
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From a point P(—4. 0). two tangents are drawn to the circle

X2+ yl —4x —6y—12 =0 touching the circle at A and B. If the equation of the
circle passing through P, A and B is x? + }’2 +2gx+2fy+¢c=0, then (g. ) =

P(—4, 0) Do 08 X* +y* —4x—6y-12=0 o3 He08 A 56 B o 58
5;:@'80{5&::@ doth ﬁ;@éanm AcHhadsd. P, AHboin B o home &5 Hgo $8ngdes0

:_ :
x? +y% +2gx + 26y + ¢ =0 wond, oyt (2. 0)=

Options :
/ .
._l_i]
| 2
1. #
2 )
2" )
2. %
{] =3
¥ 2J
3. ®



Question Number : 48 Question Id : 64041114768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the equation of the polar of the point (u.—1) with respect to the circle
X' +y —4x-6y—12=0 is y = B. then 4(a +p) =
X’ +y —4x—6y-12=0 o Heps (a.—1) Dod BoE) &Sy HEvEB@O

y =P wond, 4(a+p)=

-

Options :

L.v
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If g 1s the angle between the tangents drawn from the point (-1. —-1) to the

-

: 7 7 /! k : ;
circle x“+y" —4x—6y+c=0 and cosB = o5 then the radius of the circle 1s
x? +y° —4x—6y+c=0 HzRs (-1, -1) DohiH ol ADS )Y Bwe iy Ko
80 g @i b cosd = —?'—q ©owes, aﬁgéo @) aﬁéﬁﬂfgo

Options :
4
1. ¢
2% 1
2
3. %
3
4. %

Question Number : 50 Question Id : 64041114770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the power of the point (1. 6) with respect to the circle x° + }'2 +4x—6y—a=0
is —16. thena =

@éo }Ll +}’1 +4x—-6y—a=0 &Haps Dot (1. 6) @ng) Doth #§ —16 SODE,

el 5a

a:



Options :

1. ®

11

13

21
4.9

Question Number : 51 Question Id : 64041114771 Question Type : MCQ Option Shuffling : Yes Display Question Number
Correct Marks : 1 Wrong Marks : 0

The radius of the circle passing through the points of intersection of the circles
X2+ };3 42X +4v+1=0- x> +v* —2x—4y—4=0 and intersecting the circle
%= + v= = 6 orthogonally is

:»;2+y3+2x+4§;+1:{]. x2+y3—2x—4y—4:0 oo oy dodide

2 2 )
rooeslar, XT 4y =6 Sl @oaﬁ;iﬁc‘éo SRS B ains) agrgo

e/ =

Options :

J19

: Yes



Question Number : 52 Question Id : 64041114772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The lengths of the two focal chords of the parabola 3,;2 —16x 1s 25 units each. If

these two chords cut the parabola at A. B. C and D, then the area (in sq. units) of
the quadrilateral formed by A. B. C and D 1s

};3 =16x DorHochindt Ko doth ey ; w898 o) Brtis) 26 chordéy. e
Both emen & é—mé&:-cfuw?;:r‘g A B . C&éadn D e E.‘Jé &goé?‘é, A.B. C £58c¢»n D o

)
Sl SEdpe: FFego (S SHrQes?)
Options :
625
2
1. ®
180



150

4 v 300

Question Number : 53 Question Id : 64041114773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the tangents drawn from a point P to the ellipse 42 + 9},3 —~16x+54y+61=0

are perpendicular. then the locus of P 1s

P o3 o8 Hothsh 08 4x% +9y% —16x + 54y +61=0 88 $5)8505% ADS H)50men

q..n:E)—

©I02OMT S0E&, @39t P ang) Hothdgo

Options :
x2+}'1—4x+6}'+4:{]
1. %
2 4+ y?—4x+6y=0
2.&?3 Yy X+ 0¥
5 )
s x X +y —6x+4y+9=0

g g
X +¥y —6x+4y=0
4. %



Question Number : 54 Question Id : 64041114774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

X+yv+3=0. 2x—y+1=0 are the equations of the asymptotes of a hyperbola.
If(1.-2) 1sapoint on this hyperbola, then the equation ofits conjugate hyperbola
15

X+y+3=0, 2x-y+1=0 e a8 e8So-diocho Gn¥) oo Oy \sile Yol H80EBesren.

.‘l

& eddordedho &6 (1,-2) = E‘loiﬁﬂé 6D Hooh r‘i B&ITPHedDo C?&Jéé?ﬁgbééﬁil
Options :
g, 7 —-
2% 2 Xy =¥ T =2y-=1=0
1. %

7 g
2X“+xy—-y +7x-2y+13=0
2. ¢

7 g,
2X +EXYEY =Ix=2y-1=4
3. %
g 3 a
I xyEy =Ix=2y+13=0
4, %
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If g 1s the acute angle between the tangents drawn from the point (1, 1) to the
hyperbola 4x2 — 5}?2 —20=0, then tan6 =

4x% —5y* —20=0 ©85THoc08 (1, 1) Doths Hod ADS KgBee i Ko

o
o580 9 wond, edptd tand =
Options :

2421
1. ¥

|

z

2

o

Question Number : 56 Question Id : 64041114776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If A(2.—1.1). B(2.5.1) and C(0. —2, 3) are the vertices of a triangle. If D 1s the
point of intersection of the side BC and the internal angular bisector of angle A.
then AD =

A(2.-1.1), B(2, 5, 1)sbasm C(0, -2, 3) en &8 (Behes 85men. ghessim BC B

i — B o =
E%s0 A GIng) @088 Sshbgolld Ope poisd dothsdy D ©00S, wipth AD=
Options :

i

-

<

5

b=

A

4. ¢

Question Number : 57 Question Id : 64041114777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A line segment PQ has the length 63 and direction ratios (3. —2. 6). If this line
makes an obtuse angle with X-axis. then the components of the vector ﬁ are
2.8 Ogrpotio PQ £r8d 63 Hboin 68 Dapden (3. -2, 6) o BOA Gob. & By
X-0808° .8 &50???% 008, eipth H6¥ ﬁ @) soden

Options :

7.8,—4
1. %
L% —7.8.-4
27,-18, 54
3.
227,18, 54
4.

Question Number : 58 Question Id : 64041114778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A plane 7 given by ax+by+11z+d=0 is perpendicular to the planes
2x—3y+z=4. 3x+vy—2z=>35 and the perpendicular distance from the origin to
the plane 7 1s \/g umits. Ifall the mntercepts made by the plane = on the coordinate
axes are positive. then d =
ax +by +11z+d=0rr a3w8d m ©3 a8 Swo, 2x-3y+z=4, 3Xx+y—-z=5
Sere) eonore Gotnod by e Aothy) holl T S8 Ko eostieo JE
clrén. 7 Sexn JErDE e Ejfﬂu}fjé ®O&E sszocsff@?:& Lﬁ;:-ﬂé@éain SO0, CHplay
d=
Options :
ab

1. %
—2ab

3. % 4ab

Lo —3ab

Question Number : 59 Question Id : 64041114779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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The quadratic equation whose roots are

[ 3sin6-4sin’6 | .. | 2tan® |
[ = lim ‘ jand m = lim | — | is
60| &) | 8—0| B(1-tan~8) |
[ 3sin6—4sin’0 | . 2tan 6
[= lim ‘ | Z8cso m= lim - o5y Borerenm KDAD
60| 0 ) 6—0| 6(1 —tan~0) )

a‘afé 58EBes0
Options :

.
X" +5x+6=0

1. %
.
X" —5x+6=0
2.
2
X" =3x—6=I0
3. %
2
X" +5x-6=0
4. ®
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=
. 3X+4c0os™ X
lim =

2 g a ¥
RO Sep X

Options :

|t

L0 N

Question Number : 61 Question Id : 64041114781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



3 3 )
x/1+axl+bx.3 —\/]—ax"—bxj _
3 . agagi)
%2
If a function f(x)=+ 5. Xz
tan3x —sin 3x
3 x>0
bx

1s continuous at X = 0, then the geometric mean of a and b 1s

%/1+Eﬂv;2 +bx> —%/I—axl —bx?
= , X<
o
i) = 5 x =9
tan3x —sin3x
3 : %A
bx

©3 Habcho x=0 :5%‘5 E-Ejﬂt;é&&ﬁx- ®ond, a H6c%n b o Kes oo

Options :

12 | W

1. ®



2| o

2.9

3. %

Question Number : 62 Question Id : 64041114782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

dy .
It }f‘zlog(sec(Tan_lx]]{:{ = 0). then e at x=11is
= | - p——
y = log(sec(Tan " 'x))(x > 0) wond, X=1 5% .
X
Options :
1. % 1
3



l'Jl [

3.¢

D | w2

Question Number : 63 Question Id : 64041114783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

{ . " - -
1 V1+sinx ++/1—sinx = dy
If y=Su and <X<— then —=
2 2.7 dx
y Sin—L 1| V14sinx ++/1-sinx | 37 1 L dy
AR L% gons, , —
1+sinxX —+f1-sinx 2 dx
Options :
X
| cosec —|
2
3E. 2 X
2,[sin” ——cos” —
2 2
1. %
| X |
|sec—|
2
2+fcosx



X
cos— |

24/cosx

3. %
X
cos—
__2
L \Jcosx

Question Number : 64 Question Id : 64041114784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

d°y |
LTy = : - .
If};:\Ee (sint—cost) and }-':\Eet{smt+cost).then q 3 : =
\ dX )
t=—
4
{ 2
s .y i | &N
K:\Ee (sint—cost) sudain ,’=«.Ee (sint +cost) ewowna, 5 | =
L dx” )
T
t=—
4
Options :
g 4



Question Number : 65 Question Id : 64041114785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

5
i

l \
s E..sandrare

, ‘\/5 7

the lengths of the perpendiculars drawn from P and Q onto the line x+vy=1
respectively. When the product s7 1s maximum. the greater value among s, 7 is

q i

i = . 3 7
P and Q are the ends of a diameter of the circle x“ +y~ =a”

s i }+ 2 1[ 1
ando Xty =a[az>
o/ \/5

e

| Gt 550 E°%en PiboBatn Q. 5 50050 fe0 BT

A

P,Qo {08 X +y=138 28 ADS woo &rdsnen. st 0 K850 @ondPD $, [ &0

2 ol Dend
Options :

a++2

1. #



Question Number : 66 Question Id : 64041114786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let P(x)= <t L ax® tbx? 4+ cx 4 d be such that x =0 is the only real root of
Pl(x)=0. If P(~1) <P(1), then in the interval [-1, 1]

P(x)=x+ax® +bx? +cx+d «d3n Px)=0& x=0 Srsd
%5 Saredadhgtatpyre sorsdbomro. P(—1) <P(1) ewond, [-1, 1] wofdos®

Options :
P{—1) is not minimum of P(x), but P(1) is the maximum of P(x)
P(x) ooy €50 P(—1) seess, eomwd, P(X) Gy eiBsio P(1)

1. ¥



P{—1) is minimum of P(x), but P(1) is not the maximum of P(x)
P(x) choefy E0550 P(-1), =80 P(x) Gy 018350 P(1) emes

Neither P(—1) is the minimum nor P(1) 1s the maximum of P(x)
P(x) &, P(-1) €058 smeh, P(1) ¢Bsidoe soes

P{—1) is the minimum and P(1) is the maximum of P(x)
P(x) chuef) £03%0 P(-1) &bBosn r6sio P(1)

Question Number : 67 Question Id : 64041114787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the volume of a sphere is increasing at the rate of 12 ¢.c. / sec. then the rate (in
sq. cmy/sec) at which its surface area 1s increasing. when the diameter of the sphere
15 12 cm is

2.8 FP¥sm B, $RDODPesN WEDD 12 %9. 0.8 SUIPE b &083,
&g F‘.E%‘f:n g agko 12 20.0.m &% NP, TR S088e IV né’E 2SN Bew
(3. 30.50. ,-"H Erhed”
Optlons:

1. % 2



Question Number : 68 Question Id : 64041114788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the lengths of the tangent. subtangent. normal and subnormal for the curve
y= x? +x —1 atthe point (1. 1) are a. b. ¢ and d respectively. then their increasing
order 1s
Sotosy (1, 1) E.‘iig e | Do dn¥) ﬁ;i%éaj, &5 Fﬁ;éﬁﬂﬁ;, ©feo0s SBan
&3 odeosbye Gn¥) srisen SKSre a.b.c.d wonsd, 8 =brn EHo
Options :
b.d.a.c

b.a.c.d

2. %

i b cod

4w Dad.c



Question Number : 69 Question Id : 64041114789 Question Type

Correct Marks : 1 Wrong Marks : 0

|
J%—clx:
x” —1

Options :

X +1

3 TC

log| —— |+
x4 xsl)

| =
=

2.9

: MCQ Option Shuffling : Yes Display Question Number : Yes



Question Number : 70 Question Id : 64041114790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

.[ x?—16x% +2x+8

3 : dx =
X —4x°+2
Options :
j
X" +8x+¢
1. ¢ 2

.
X" +8X+c
E

2.
3
X AXE
3. %
)
X“—8x+c
2



Question Number : 71 Question Id : 64041114791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3

sec” X

—dx=
(secx+tanx) ~

Options :

b

\5/2 7
(secX +tanx)’ (secx +tanx)

— +c
1. % >
£/ T
(secx —tanx)'~ (secx—tanx) ~ >
5 7 |
2. % '
3/2 7/2
(secx +tanx)" (secx+tanx) '~
— — — +c
3. % 3
3/2 7/2
(secx —tanx)”' - (secx—tanx) ~
- - — +c
4.4 .

Question Number : 72 Question Id : 64041114792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



1 1 1
j P dx =
COSX | smx SINX+3cosx

Options :

ilcer

3 -

SN X
£

sinX + 3cosx

1. *

COs X

log |+c

sinx+3cosx

COsX

+ C

o

SM X+ 3COosX

SINX |
4

sInX+3cosx
4.9

Question Number : 73 Question Id : 64041114793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
|I.- l : '\II
o o
j Cos™! ‘ — |dx =
o™

/

Options :



E[XTan_lx —log V1 +x? ]+c

1. ¥

2x Tan " 'x + logv1+ x? +c

2. %
-1 2
xTan x+logVl—-x“ +c
3. %
- )
2[Tan 1x—10gw‘1+x’]+c
4. %

Question Number : 74 Question Id : 64041114794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

x g )
2
——dt=
2 3
0 Va“~ +t°
Options :
5 a-+X" +log|x+va®+x~|

) 9. - I
ya~ +x~ —a“~Sinh i

2. % a



h

;\,‘a o ® +—102|x+ a’+x° |
3. % <

2

x 7 g a : o

—fa“ +x~ ~ 2 Sinh 12

2 2 a
4.

Question Number : 75 Question Id : 64041114795 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

The area (in sq. units) of the region bounded by the lines x =(0. x=— and

| A

f(x)=smnx. g(x)=cosx i1s

Omen x=0, X—— Hdatn f(x)=sinx, g(x)=cosx o HoagHS (oo GnE)
dzcego (S chrdes®)
Options :
2(v2-1)
1.¢

) 23 -1)
2(+/2 +1)

3. %

Yes
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Question Number : 76 Question Id : 64041114796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

/3
J CDS_4.1‘ ax=
/6
Options :

64

93

93

Question Number : 77 Question Id : 64041114797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

3n/2 c053 X
S5~ 3 JL..

3 :
0 cos X-I-Slllj}i

Options :

Question Number : 78 Question Id : 64041114798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The general solution of the differential equation sec(x —y+1)dy=dx 1s
odsed S¥seo sec(x—y+1)dy=dx Go¥), ebes RS

Options :



x+cotfx—=y+1l)=c¢
2. %

|= ¢

— A

(X—y+1
X—C0[| —_—
3. % S

X—cot(x—vy+1)=c
4. %

Question Number : 79 Question Id : 64041114799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The differential equation for which }fz =4a(x+a) (a is the parameter) is the
general solution is

y? = da(x +2) (a So°B) D Juredm IS o COAS eBEns HiEsmo

Options :
2
dy dy
i G T e
TEE F(dx]

1. &

_ gy dy
y=yg-x( L



dx

X

Question Number : 80 Question Id : 64041114800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
dy 2xy—-4x+vy-2

The general solution of the differential equation = 1s
dx 2xy+x—-4y-2

dy 2xy-4x+y-2
dx 2xy+x—-4y-2

8830 @) s P

o

@HE0H D

Options :
_ i }r_z b
5(y —x)+2log| 1=c
X2 )
1. %
N
2(y—x)—5log| = ‘:c
VE=2 )



: y— 3 )
2(y—x) +5log| 1=c
L =2 )
3.¢
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5(y—x)—2log ‘:c
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Question Number : 81 Question Id : 64041114801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Of the following. the pair of physical quantities not having the same dimensional
formula 1s

' L # ™ "
Bod &P 28 ofich griyer BOR 20 8% oo 2206

Options :



work and torque
SR snbcim 2e (grshio

1. %

angular momentum and Planck’s constant

§%Bah (55 SKo Hbcin az08 Joroso
2. %

stress and linear momentum

(H8me0 HBcH BHPSH (BB53K0
3.9

surface tension and force constant

éméé@éﬁ snbdin oo ?é:moéo
4, %

Question Number : 82 Question Id : 64041114802 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the distance travelled by a freely falling body in the last but one second of its
motion 1s 5 m. then the last second 1s

(Acceleration due to gravity = 10 m s7)
ﬁ“égjr‘rﬂ (Bobs Hehhi) a8 Hnsd wed) HEoHoED) D58 5D Eoll Snoth ESSE Sm

oy
od

Sro [BHoirdon, & D50 i
(rothes seso = 10 m s™)



Options :
t
1. # I

=nd
2.9

Question Number : 83 Question Id : 64041114803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The angle of projection of a projectile whose path is shown in the given figure 1s

— F ]
ad@ad Dos® St HPo Ko af (HEHto @Y 83 Swo

L]

VA

20m]\
0 =X

- P

30m 10m



Options :

tan~' (1)

1. ®

Question Number : 84 Question Id : 64041114804 Question Type : MCQ Option Shuffling : Yes Display Question Number
Correct Marks : 1 Wrong Marks : 0

If the equation of motion of a projectile is y=Ax —Bx”. then the ratio of the
maximum height reached and the range of the projectile is

4 o - 5 2 =5 L -, -
2.8 (Fgn80 awE) Sof Hidlno y=AX —BX". 0o [Hg8o 388 K65 L&, ool
T8 D8

Options :

: Yes
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A wire of length 2.5 m 1s fixed at one end and a box of mass 4 kg is tied at the

=
other end. If the wire rotates in a horizontal circle about the fixed end with ;

rotations per second. then the tension in the wire is
2.5 m %D Ko a8 8K 28 5D a8 88 DothHH Do ol BoXsd B%H 4K
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If the tension in the horizontal wire shown in the figure 1s 30 N. then the weight
W and tension in the wire OA are respectively
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A car of mass 2000 kg 1s accelerating from rest. If its engine 1s supplying constant
power of 10 kW. then the velocity of the car at a time of 10 s 1s
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A body of mass ‘M’ 1s moving with a uniform speed of ‘v’ on a frictionless
horizontal surface under the influence of two forces F, and F, as shown in the
figure. The net power of the system is
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Radius of gyration of a thin uniform rod of length ‘L’ about an axis passing

through its centre and perpendicular to its length 1s
grEsy ‘L’ Ko a8 5:nd
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A thin circular ring and a circular disc of equal mass are rolling without sliding.
If their linear velocities are equal and the total kinetic energy of the disc 1s 6 J.
then the total kinetic energy of the ring 1s
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A body of mass 4 kg attached to a spring of force constant 64 N m™ executes
simple harmonic motion on a frictionless horizontal surface. The time period of
oscillation is
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A particle 1s executing simple harmonic motion with amplitude A. At a distance
‘x” from the mean position. when the particle 1s moving towards extreme position
it receives a blow in the direction of motion which instantaneously doubles its
velocity. The new amplitude of the particle 1s

(Frequency is constant during the motion)
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A mass of 6x10* kg is to be compressed in the form of a solid sphere such that

the escape velocity from its surface is 3x10° ms™. The radius of the sphere is
(Universal gravitational constant = 6.66 = 107! N m’ kg™)

6x10%kg (58550280 a8 i g0 wsetorr HBomrd. Ao 6988003 Herdhid
3o 3Ix10°ms™ wond, & o aﬁéé‘)ﬂgo
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If the pressure on a body is increased from 200 kPa to 250 kPa. the volume of the

body decreases by 0.25%. The compressibility of the material of the body is
(in m? N7)
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A mercury drop of radius 1 c¢m is divided into 10° droplets of equal size. If
surface tension of mercury is 35x 10~ Nm™. then the change in suface energy in
the process 1s
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Steam at 100 °C 1s passed into 114 g of water at 30 °C. The mass of water present
in the mixture when the temperature of the water becomes 70 °C is
(Latent heat of steam = 540 cal g™: specific heat capacity of water = 1 cal ¢! °C™)
30 °C 858 &5y 114 ¢ D& &8 100 °C 58 Ke H® =06 Hohowdh. HB &8s
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In a Carnot engine. 1f the work done during isothermal expansion 1s 25% more
than the work done during isothermal compression. then the efficiency of the
engine 1s
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The work done to increase the volume of 2 moles of an ideal gas from V to 2V at
a constant temperature T 1s W. The work to be done to increase the volume of 2
moles of the same gas from 2V to 4V at the same constant temperature T 1s
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If the given graph shows the logarithmic values of pressure (P) and volume (V)
of an 1deal gas. then the ratio of the specific heat capacities of the gas is
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The internal energy of one mole of a rigid diatomic gas at absolute temperature T
15
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In a closed organ pipe. the number of nodes formed 1n fifth and ninth harmonics
are respectively
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A light ray falls on a rectangular glass slab as shown in the figure. If total
internal reflection occurs at the vertical face of the slab at point B. the refractive

index of glass is
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In Young's double slit experiment. the distance between the slits 1s 0.2 cm. the
distance between the screen and the slits 1s 1 m. If the wavelength of light used
in the experiment is 5000 A, then the distance between two consecutive dark

fringes on the screen 1s

ohoh 06 HDY H@rros® HOKe oty B0 0.2 cm, 88 SHbdin Hoge ot Srdo
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A particle of mass 0.2 g and charge 2 C 1s released from rest in a uniform electric
tield of 20 N C-'. The kinetic energy of the particle after moving a distance of
20 cm 18
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If 27 indentical charged conducting spheres each of capacitance 10 uF combine
to form a big sphere, then the capacitance of the big sphere 1s

e.E%%8 10 UF Serhd) o 27 50878 w88 amrt Mwren 00 o8 28 R ¥ore
ABBES, & Ble rigo Sara8ay

Options :
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The capacitance of a spherical capacitor 1s 100 pF. If the spacing between the
two spheres 1s 1 cm. then the radius of the inner sphere of the capacitor 1s

2.8 Fdgesel BarDeob @n¥) Sarhés) 100 pF. Boi Aogee) gl Brdo 1 cm eond,
Sardeb woss Yo —Jwa*céo
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A wire of resistance ‘R’ 1is bent in the form of a circular loop. Two points on the
circle seperated by a quarter circumference are connected to a battery of emf ‘E’
and negligible internal resistance. The heat generated in the wire per second 1s

‘R’ 26%0 Ko 2.8 8K NEesel erarr Howed. © HEon HE H66E° 45 Hok
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When a wire 1s connected in the left gap of a metre bridge. the balancing point 15
at 40 cm from the left end of the bridge wire. If the wire in the left gap 1s stretched
so that its length 1s doubled and again connected in the same gap. then the
balancing point from the left end of the bridge wire is
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If a charged particle enters a uniform magnetic field normally with certain

velocity, then the time period of revolution of the particle
28 =388 Bwmo Bod JKos® a¥ 0568 wohamod FEostE eomore (HH80DS,

&5 a0 200|858 sre0

Options :
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mcreases with mcrease of radius of the orbit
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increases with increase of magnetic field
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A long straight wire of circular cross-section of radius ‘a’ is carrying a steady
current. The current is distributed uniformly across the cross-section of the wire.
The ratio of the magnetic fields at points 0.5a and 1.5a from the centre of the wire
1s
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Materials suitable for permanent magnets should have

FHRE wchoEred ScrhHIchnes DB é'flﬁﬂtgﬂ)éj =TelataTSre e
Options :

low retentivity and low coercivity
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high retentivity and high coercivity
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If a wheel with 24 metallic spokes each 40 cm long is rotated with a speed of
180 rev/min in a plane normal to the horizontal component of earth’s magnetic
field. the emf induced between the axle and the rim of the wheel 1s E. If the
number of spokes 1s made 12 and the wheel 1s rotated with a speed of 90 rev/mun
in the same field. the induced emf 1s
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If a resistor of resistance 4 Q). a capacitor of capacitive reactance 6 Q and an

inductor of mductive reactance 9 QQ are connected in series with an ac source.
then the impedance of the circuit 1s
4Q 580 Ko 28 880, 6Q Esoek (35 &850 Ko a8 Barbeb HBcm 9 Q
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The ratio of the magnitudes of the electric field and 10°® times the magnetic field
of a plane electromagnetic wave 1s
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If a proton and an alpha particle are accelerated through the same potential

difference. then the ratio of their de Broglie wavelengths is
28 (£8erS H0B05m &8 wer) Swed) 2.8 Sr8R0HS Fio nxoe eﬁéﬂ‘jc%%éo 3067, >B
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Of the following. Bohr’s atomic model 1s applicable to
& (80B BS° £98 HEHrem Sorae $80HHH

Options :
explain relative intensities of spectral lines emitted by hydrogen atoms
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lithium atom
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The ratio of the orders of the spacings of nuclear energy levels and atomic energy
levels 1s
So[38 B HBSren $& Srone wodore G [Edoe A8
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The voltage gain and the current amplification factor of a transistor in common
emitter configuration are 300 and 60 respectively. If the collector resistance is

5 kQ). then the base resistance 1s
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The logic gate equivalent to the circuit shown in the figure is
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If the maximum and minimum amplitudes of a modulated wave are 25 Vand 5V
respectively. then the modulation index 1s
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The radius of fourth orbit in He ™ ion is 'R,' pm and radius of third orbit in Lt
ion1s 'R ;' pm. The value of R, -R )ﬁl pm 1s
He" oairS6° avgs 85 5 asgo R, pm$6asn Li*" odsrSe® sueis 88 5 oo
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The deBroglie wavelengths of two fast moving particles X, Y are 1 nm. 3 nm
respectively. Mass of X 1s nine times the mass of Y. The ratio of kinetic energies
of X. Yis

Jorr 68 X, Y o Boh e &5 $dongoe sen XBSre 1 nm. 3 nm.
X (58508 Y (535078 Bo& &k dép. X, Y o Adedfie 58
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Electronic configurations of four elements A, B. C. D are given below

A.B. C,D & oot shroste doms dagren 8o asknld.
A) 1s% 2% 2p° 35! B) 1s?2s%2p®3s? 3p!
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The correct order of first ionization enthalpy of these elements 1s
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A molecule has T-shape. The total number of electron pairs in the valence shell
of central atom of it is
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) § ) . . .
The sum of bond order values of C and Q5™ is x. which is equal to sum of bond
e i

order values ofa. b and ¢. Whatarea.bandc ?
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At 27 °C kinetic energy of 4 g of H, 1s x J. What is the kinetic energy (in J) of
6.4 g of oxygen at 127 °C ?
27°C 88 4g o H, @& 582248 xJ. 127 °C 58 6.4 g © =8zo K3=88 (J eét)
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At T(K). hydrogen and oxygen gases are mixed in the ratio of 1 : 2 by mass in a
closed vessel of volume "V' litres. If the total pressure of gaseous nmuxture i1s
'p' atm, the partial pressure of oxygen (in atm) 1s
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Correct Marks : 1 Wrong Marks : 0

Which one of the following reactions is not feasible ?
% Bob ufﬁﬁ-@tf D6 Den w2t ? (2=, 1 = |8, 5= 50, A0 = a30)

Options :

Cl>(g)+2KBr(aq)——2KCl/(g)+ Bny (/)

1. ®

Cl,(g)+ 2KI(aq)—>2KCl(aq) + I,(s)

2. %

Br1, (/) + 2KI(aq)——2KBr(aq) + I5(s)
g 2 2

v I,(s)+2KBr(aq)—— 2KI(aq) + By (/)



Question Number : 129 Question Id : 64041114849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

For which reaction AH = AU ?
2 S5 AH= AU (g=ax) ?

Options :
H,(g) +I,(g) — 2HI(g)
2NO(g)——> N2 (g)+0,(g)

N,(g)+3H;,(g)——>2NH;3(g)

C(s)+0,(g)——>CO5(g)

Question Number : 130 Question Id : 64041114850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



At 298K, ﬂ.,.Ue and ﬂ,.Se for the following reaction are —10.5 kJ and
+44.1 K 2X(2) + Y(g)——2Z(g)

What 1s &,.GE (in kJ) for this reaction ? (R =8.314 ] K ! mol™)

298 K &g, (Bod I8 &,,L'E’ Svlelersy ﬂrSe en HHEme —10.5 kJ S56a50
+44.1 KL 2X(g) + Y(g)—>2Z(g)

& 35% AG° (K of) o8 ? (g=5°) (R=8.314TK ' mol )

Options :
+0.164

1. #

) o —26.119

L x —2.6119
—0.082

4. %

Question Number : 131 Question Id : 64041114851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following gaseous equilibrium reactions (I). (II) and (IIT) with
equilibrium constants K,. K, and K, respectively

Denergd goroseen K. K, &bain K; enre Ko srdin Siaegd S5
(III) e HBKBoLHTw.

(]

3 (1), (IT) 8050

-

1 3
By Ngsb o =i

el

II) END;“NE +03

1

The correct expression for the equilibrium constant for the gaseous equilibrium

reaction 2NH; +%02 — 2NO +3H,0 18

5
ZNHﬁ -+ :Ol — 2NO + E‘HEO &Eﬁ- 57°Cm0 Eﬁ%ﬁ]@“fg@ tﬁ{j; (ﬂl}%flg}}@%@ %@Oé@ééﬁ

208 Hehiteso

Options :

b
K3

K1><K2
1. %



Question Number : 132 Question Id : 64041114852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When 30 mL of 0.2 M NH,OH 1s added to 30 mL of 2 M NH,4C/ solution. If the
pH of the buffer formed is 8.2, what is the pK; of NH,OH ?

30mL 0.2 M NH 4OH [oedesoi 30 mL 2 M NH,4C (orseD8 EDarth. & 2050

(oedeso pH Dend 8.2, mowad NH 4OH awg) pK, sJos?
Options :

T’}
1. %



L 4.8

Question Number : 133 Question Id : 64041114853 Question Type : MCQ Option Shuffling
Correct Marks : 1 Wrong Marks : 0

=

IS

Which set of elements form electron precise hvdrides ?

2 Hirose 38 Jogese S¥ore Ko 3r
(Y

Options :

: Yes Display Question Number : Yes

BEe athazon ?
|« B.A/LGa

C, S1, Ge
2. ¥

Correct Marks : 1 Wrong Marks : 0

Question Number : 134 Question Id : 64041114854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



The correct order of density of Be. Mg. Ca. Sr 1s
Be. Mg, Ca, Sr & Tro(tide H58a08 Eshdn

Options :

L Sr > Be>Mg>Ca

Sr > Ca > Mg > Be

2. %

Be>Mg>Ca>Sr

3. %

L% Be>Mg > Sr > Ca

Question Number : 135 Question Id : 64041114855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the reaction in which diborane 1s produced on industrial scale ?
a0\ FnEorr BE 0N 688 T S HhoHHw.
Options :

Reaction of BF; with LiA/H, i diethyl ether

BF; & LiAfH,4 & @ 58S &$68° 35

1. #®



Oxidation of NaBH, with L,
I, 8° NaBH, &)85e0

Reaction GFBFz with NaH at 450 K
450 K ég NaH &° BF3 585

By heating H,BO, to above 370 K temperature
H,BO,d 370K Eo& g SEENSES SBDchto Hed

Question Number : 136 Question Id : 64041114856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following properties 1s not correct for silicones ?
%08 50 (8o ERCA VRS g0 56 st 7
Options :
bio compatible
Brinireo

high thermal stability

ahE dimteco
2. % | T



low dielectric strength

@en &t e 2o
[+ % o [

3. ¢
water repelling in nature
229888 Geero
4. % -

Question Number : 137 Question Id : 64041114857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following
Bod a=@Y a8t
List-1
AL |
(Pollutant concentration

limit in water)
D8 endgBo S $88)

A) Pb =50 ppb
B) SDi_ = 500 ppm
C) NO3 > 50 ppm

D) F~ > 2 ppm

The correct answer 1s
2 HDregrNo
Options :

List-11
=fme-11
(Effect)

(&750)

I) Brown mottling of teeth
SE)D @S Borb Hgen 2B He
II) 'Blue baby' syndrome
D&E Do &5
IIT) Laxative effect
DTS (Herdo
IV) Liver damage

=8c%0 Ea:é‘:e?iﬁ)éa



v A-IV, B-III. C-II, D-I

A-IV, B-III. C-1. D-II
2. %

A-IIL B-IV. C-1. D-II

3. %

A-II. B-III. C-IV, D-I

Question Number : 138 Question Id : 64041114858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The element whose percentage composition in an organic compound can be

determined by Carius method 1s
86059 écg%éﬁ By $apESos R S Soreo @nE) Somexd e DBonT5.

Options :

Nitrogen

Sulphur

=
20
S

2.



Carbon

S

Oxygen

L% SIS

Question Number : 139 Question Id : 64041114859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

'x' mg of an organic compound was analysed by Kjeldahl method. The ammonia
evolved was absorbed m 50 mL of 0.5 M H,SO,. The unused acid required
60 mL of 0.5 M NaOH solution for complete neutralisation. If the percentage of
nitrogen in the compound is 56. the value of x 15

Y mg e a8 B ﬁﬁ}@_%‘ﬁo 2epd ége_‘"@dﬁ“ DBNe Dohalod. IendHBD ©RAe

50mLeo 0.5MH,S0O, & h0HEnlob. HAGEFKO S0 ePEl) e é&-f\a}ééotﬁmﬁjé

60 mL & 0.5 M NaOH w&:58500m506. F’:.ﬁ%ﬁéo-ﬁa J(ePaS T80 56 wondS® x Dend
Options :

v 500



Question Number : 140 Question Id : 64041114860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The composition of a sample of wustite 1s Fe,,,0, ,,. Percentage of iron in the
form of Fe>" ion is nearly
{%Eéﬁ g 2.8 FRond Joghtado Feyy,0, 4 ™ a6, Fe’ ' dmsos &) 088 TS0
M lavclela

Options :

| % 85

—
A

2.¥

Question Number : 141 Question Id : 64041114861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A solution of urea in water has a boiling point of 100.18°C. What 1s the freezing
point of the same solution. if K. and K, of water are 1.86 and 0.52 K kg mol ",
respectively ? (Boiling point of water = 100 °C)

DBSE® HrdCSr &) [PHE0 BNk eraEdd S0 100.18°C. B @D K 508050
K, en &80re 1.86 $59dosm 0.52 K kg mol ! wonsst, «d (Geses0 GInE) SAATIY
. ™ &y ,-,-1-3,5-.-., = = 5

F0 Qod? (V8 aragdd o =100 °C )

Options :

% —034°C
L x —022°C
L v —0.64°C
, » —9327C

Question Number : 142 Question Id : 64041114862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



At T(K). the vapour pressure of pure benzene and toluene are 75 and 22 mm Hg
respectively. 23.4 g of benzene and 64.4 g of toluene are mixed to form an ideal
solution. If the vapours are in equilibrium with the liquid muxture. the mole
fraction of toluene in vapour phase 1s (Atwtof C=12: H=1)

T(K) 88 98 & BodS Hbain &OFe ars)) Hteren HHIT 75 FHd6AH 22 mm He.
234ge Déﬁ gobain 644 g e ﬁ'ﬁ':‘@‘%@; Eod o) [orHerd) HBB8DTron. eraRe,
158 Sn(¥o0s" mﬁj:@ﬂraé} ﬁ‘m\dﬁj ant*@ B "@’5 SOS FrS erKko
F.ge C=12: H=1)

Options :

| v 0.406

0.594

2. %

0.539

3. %

0.461

Question Number : 143 Question Id : 64041114863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



At 298 K. the following reaction takes place for a cell at the hydrogen electrode
298 K 58 (Bob 3585 2.8 3héo &5 &S @@iléfﬁ 3E esbirvsod. (aq=eo)

H" (aq) +e~ ﬁ% H, (1 bar)

The solution pH 1s 10.0. What 1s the hydrogen electrode potential in volts ?

(2.303

‘ ﬁ =006V

\ F

(oedessd pH 10.0. @628 &-P;@fﬁ 8o éﬁcgf_:ﬁﬁ aos ?
(2.303RT )

| ————=0.06V

i !

Options :

v —0.6
L« —0.06
L 0.6
4 % T0.06

Question Number : 144 Question Id : 64041114864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A — B is a first order reaction. The concentration of A is decreased from x mol
L' to ymol L™! in 100 min. What is the average velocity of the reaction in mol
I min=1 2

A >B.a¥ B¢ (Edros S8 A megs 100 Ddwareds® x mol L7 %08

ymol L1 & $hob. Sy Homd Brko mol L min! o6® 208 2
Options :

lx—y]
L w100

4

| y—x|
100

100

x|
3. %

100
| x+ |
4. %

Question Number : 145 Question Id : 64041114865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The adsorption of a gas on a solid surface follows Freundlich adsorption isotherm.

X
At T(K). the gas pressure is 2 atm. What is the value of E‘? (n = 2 and

k = constant)
e

E‘.‘l
i

208 eHb8050) arain ®hEHedn [grovoda S3ry Onidh ardiod. T(K) 548

X
secin Hddn 2 atm . Ha‘:-meé o ? (n=2 50w k= ?@:moéﬁl}}

Options :

= _a%
[ % I
v 1414

x__k
_— m 1414

X 1414k
4 m

Question Number : 146 Question Id : 64041114866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Which one of the following acts as autocatlyst during titration of KMnO, and
oxalic acid in presence of dilute H,SO, ?

208 H,S0, g8 KMnO, 5:805n o5ds oo @oddrddos” o6 Sioho

a[B\BEore HADK508 ?

g2

Options :

-, H,S0,

KMnO 4

2. %

11.C.0

[
[
.p.

MnSO 4
4. ¢

Question Number : 147 Question Id : 64041114867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following.
Bobar& H58MBohsm.

Statement-I ~ : In the extraction of A/ by Hall-Heroult process. pure A/,0O3
mixed with Na3A/Fs lowers 1ts melting point and increases
conductivity.

seoay -1 . oerfoldhod 5’355-3?55%”? ér‘ge’l&@g QsB.eo 3?&&:@3&3 ﬁc:ej&@é

Al O3 % NazAlFs % $05839p0, ©& o (BOSS Lo
ég‘@oﬁ 0B TR othdod.

Statement-II : Zirconium metal i1s purified by zone refining method.
gy 11 y :355;@@5.::: @GE&E@ Sotie 589 ér:ge".%és &%Eﬁ:&

The correct answer 1s

DO a2amew
Options :

Both statement-I and statement-II are correct

asgy-1 $08ain w=pgy-1l Botir SBEHED.



Both statement-I and statement-II are not correct
a_.."‘;&_};-l HoBo%w o‘.‘e‘;@;-HEDiﬁF QOTHR ==.

2. %

Statement-I 1s correct. but statement-II 1s not correct

asa-1 $SBGHR6, =R Tegey-1l SBGKE ==.
3.¢

Statement-I 1s not correct, but statement-II 1s correct

f;ﬂ,}é-l LSBTGS =%, =0 :?55;5-11 LSBT
4, %

Question Number : 148 Question Id : 64041114868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not correct ?
8ob BS° 0B ¥BHH = ?
Options :
Thermal stability : H,O > H,S > H,Se > H,Te > H,Po

63 B0
1.X W



Reducing property : H,S = H,Se = H,Te > H,Po

EahESes G’S{ﬁé{:ﬁ
2.

Boiling point : H,S < H,Se < H,Te < H,0

a:nc.{ 2988 FFNCJ

3. ®
Melting point : H,S < H,Se < H,Te < H,0
D58 Fdo
4. % i

Question Number : 149 Question Id : 64041114869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The amphoteric oxide of Vanadium (V) reacts with alkali and forms an oxoion
'X' and with acid forms an oxoion Y. The oxidation states of 'V'in X and Y are
respectively

JdchHo (V) @Bn) Brbeeesd n_aaxm 5808° $P0b =B wairsS X' a0 Hbdsn
=508 o8 0dirS Y wﬂoﬁ. X £6cn Y o8 'V I.Lé. 58es Qeoen HBJe

Options :

+2, +5
1. #

+3.+3

2. %



Question Number : 150 Question Id : 64041114870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

, . : § o s o
In which one of the following complexes the metal ion has t5,e; configuration?

—

Bob & HodHod®, % wdira t

3
2

o

2 i -
e, Daegdoih BDA Gotwob ?

g

Options :

[Mn(H,0)s]*"
1.¢

[Fe(H,0)6]*
2. %

[Co(NH;3 )"

[Ni(H,0)6]**

4. %

Question Number : 151 Question Id : 64041114871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following.
Bod 58 ess8Hnhakm.

List-I (Polymer)
-l (058)

A) +CE-ChEg

B)-ECH;— clz‘HjLLl

CN

C) —FOCH,CH,0 C B

||
o

D) {NHCONHCH }_

Correct answer 1s
slelentaibstaviinale)

Options :

A-TII, B-V, C-1, D-1I

B

List-IT (Used in making)
fae-Il (Ecirbs® misedh)

I) Safety Helmets
DBES T8)en
II) Gaskets

i
" mé_Eu €0

IIT) Lamunated sheets
eHIBE Selen

IV) Commercial fibres
aghes; E8rhen

V) Paints

20nothen



A-L B-II. C-IV, D-III

2. %

A-II. B-IV. C-I. D-III
3.¢

A-II. B-IV, C-V, D-1I

4. %

Question Number : 152 Question Id : 64041114872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Consider the following.
Bodar&R 58K Bohi..

Statement-I - Primary structure of protein represents its constitution
sesgy -1 S o R - e Qoo Tl Bw¥) SovemeR) Srdkod.
Statement-II :  o-Helix and B -pleated sheet structure of protein represent

tertiary structure of it
seogy -11 . o -20E) S8k B-2BE &¢ dommo @PES Bw¥) BC5HE

Qe Srrdnol.
& = e

Correct answer 18
BGR Jdregrdo



Options :

Both statement-I and statement-II are correct

a7y~ S08ain a=pgyr-11 Botir KBEHLRL.
], %

Both statement-I and statement-II are not correct
?53:,35-1 Fevlalevay) -;T.F‘;S;J;-II Bo&kr S8 =K.

Statement-I 1s correct. but statement-II 1s not correct

Terar-1 [BTHRG, =20 ey -1l SBTHRE ==&.

Statement-I 1s not correct, but statement-II 1s correct

-1 HBGHHE =%, =R ey -1l SBTHs.
o S— o te (-l

Question Number : 153 Question Id : 64041114873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The structure of the product 'Z' in the reaction sequence is

Soegdod? sddo 'Z Gn Jouso
s o) oh iy =

CHO
(|:*H0H HEA  CHOLTIBK 6
- :
(| )4 * 10—-20 atm ~x uv z
CH,OH
Options :
Cl
1%

L

£



Ce

C/ B
C¢ Ce
Ce
3. %
Ct
C/ L
C¢ C/
Ce
4.

Question Number : 154 Question Id : 64041114874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following.
Eob ar@R exedadchain.

List-I (Drugs)
hee-1 (Boooen)
A) Equanil
5530
B) Furacine
P8RS
C) Tegamet
Ei5shed
D) Veronal
36 S

Correct answer 1s
208 Hirgeio

Options :
| % A-III, B-I, C-II. D-IV

. A-II. B-IV. C-III. D-I

o A-IV, B-III, C-1, D-II

List-II (effect)
hee-II ([Dgrdo)
I) Hypnotic
SPES B8
IT) Antacid
ASrotrhE
IIT) Antiseptic
cirodHHE
IV) To control hypertension
whHE SE5%n DadolSes



A-IV. B-III. C-II, D-I

4.9

Question Number : 155 Question Id : 64041114875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The reaction of benzene diazonium chloride with Cu and HC/ 1s known as
BofS B EAcho 888 Cu ot HCI 8° a6 38

Options :
Sandmeyer reaction
[ % Frobaahb 585
Etard reaction
e iy = L
2. 33 Ciu:&g Méﬂ

Finkelstein reaction

HBS 2 S
3. % =5

|

Gattermann reaction

u.". i~ "-l: *‘: gl
L ebsne htﬁa

Question Number : 156 Question Id
Correct Marks : 1 Wrong Marks : 0

: 64041114876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Identify the correct set from the following
Bob A& BB JBY HBoSos
Options :
CHC/53- used in production of freon - 12
CHCI;3- 53578 - 12 865768° a5@rATS

CCly - used 1n production of freon - 22

CCly -13657S - 22 $05768° &5@PATS
2. %

CH,C/, - used as propellant in aerosols

P CH,Cl; - 28°2rSS° [5F 28085 65@rARE

3. - - |
DDT - first chlorinated organic herbicide

L DDT - 308& §%6d88n DHoldcd Bend Snge rdEo

Question Number : 157 Question Id : 64041114877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



In the given reaction sequence. conversion of X to Y is an example of
BN iﬁcwéiémoﬁﬁ. X %09 Y % grod vleh) B8 aoedrtes

CH;COC/ (1) N,H,

- — =Y
Anhy. AICI; (2) KOH / glycol
Sille A ﬁsvﬂef

Options :
Clemmensen reduction

. S50ada ahgdeo
l. :

Stephen reduction

NS EohEeo
2.% ¥

Wolft-Kishner reduction

v 60)-8:15 FohEdemo

Rosenmund reduction
82355006 EahEteso

4, %

Question Number : 158 Question Id : 64041114878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



IUPAC names of mesityl oxide and oxalic acid are respectively
Sonds @E;,E H8csn wsmOE wiyo @wE) IUPAC 2 S&dm
Options :
4 - Methylpent - 3 - en - 2 - one: Ethanedioic acid
v 4-035 205 -3-55-2-4.5; S55R40mE o
4 - Methylpent - 3 - en - 2 - one: Propanedioic acid
4-03F2065-3-%5-2-4.5; EFndgiont eio

3 - Methylpent - 3 - en - 2 - one: Propanedioic acid
- 3-S5 205 -3-%5-2-4.5; ©*253L008 eo
3 - Methylpent - 3 - en - 2 - one: Ethanedioic acid
3-0BE 0085 -3-55-2-4.5; 3584008 so

Question Number : 159 Question Id : 64041114879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following compounds does not give benzoic acid when treated
with alkaline KMnO A

8ob O HalyFoeRy 5b%% KMnO, & 35

= Ch. = [=

el

22657 BolonE eBrd: aaﬁ;cﬂj ?

[ [t

Options :



Acetophenone
| % 02855 SPS
n-Propyl benzene
- -80S Bodd
Styrene
285
3 ey
t-Butyl benzene

t-zcd3eS BodS
e
4.

Question Number : 160 Question Id : 64041114880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The sequence of reagents required to convert aniline to benzoic acid is
RO Bo&tawk eshorr HrHERs sHobld sbsre (Bho
Options :

, CHCL/OH™.A: H,O"
1.

) % NaNO, /HCI/,273-278 K; KCN,H,0"



s NaNO, /HC/,273-278 K; CuCN/KCN; H,0"

NaNO, / HCI.273K; H,PO,: CO.HCI. AIC,

4. %



